GMATO O 1-GMATO O 120 00(@)PDFO OO OOOOO
OJ0ooooooOn
https://www.100test.com/kao_ti2020/126/2021 2022 _ GMAT E8 8
0 83 E8 AF 95 ¢89 126673.htm21. 0 00 OO0 OO OJODO13
Jdodoboooooodilo coolleon o220 coJaods
[ O My Answer: C22. A circle inscribed in an equilateral triangle
with side length = 10. What is the area of inscribed circle?23. O O [
OO0OowOXOoyOdzZzOoOOOOoOoOoOoDood7omile/OOO
000 0O80mile/U 0 O OO OO 100mile/UI O O O O 750mile
OXOYOODOODO24024.x=(10010000),if(xO0xO00) =
(10 0O k OO 00), what is k? My Answer: k = 200. (Not sure if my
answer is correct)Old JJ:X=10"M10000 O X~AX=10"MKO O KO O O
[ remeol] O O 0O O 107M10225. If X is between 4497 and 4509,
which number is closest to 23/(30X)? My Answer: 345126. A right
triangle is on top of a square. Square side is 100, right triangle sides
are 60, 80 and 100 (common side with the square). How many bags
of fertilizer to cover entire area? (1 bag covers 2000 sg. feet.)My
Answer: 7 bags.27. Make a code of different letters from 10 letters
(A,B, J.). What’ sthe ratio of 5 letter code to 4 letter code? My
Answer: P(5,10)/P(4,10)=628.rst0 0 0 OO (Drsd 0O O (2)st
O002.000ACOACOOODABOOOOOOOOOO
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OACO OO O (1)BC=2(2)ACL 3/40 0 0O O OO O 30.1998
sales increases x percent from 1997, 1999 sales decreases x percent
from 1998, 1999 is 9 percent less than 1997. What is X?My Answer:
30 percent31. R=S(100)/P, in the equation, R is the real salary of a



person, Sis the current salary, and P is a kind of index. Whether the
person
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AVAANNNNS real salary now is more than the real
salary of 1967?
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AV VNNNNNNWNNS current salary now is 94% more than
that of 1967 (2) the index of 1967 is 100 and the index of now is 182
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